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48
mm mé/s
S28 25 26 520 9,100 147
6 26 470 9.02 12,801
49,201
46,323
S54 380 6.97 4,600 12
6 29 330 6.40 5100 71
1.44m 1,355
14,805 ha
S55 28 29 310 5.49 2500 2
8 31 310 5.46 4,000 713
30 7,395
4,228 ha
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5.46m
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mm m3/s
S57 24 270 6.64 4200 25
7 24 240 6.08 5300 244
3,668
2,418 ha
S60 26 27 340 591 3,000 3
6 27 21 29 9 320 511 4,200 61
831mm 1735
827mm 2,824 ha
28 9
5.10m
H2 2 310 6.39 3,800 60
7 9 7 2 9 270 5.54 4200 937
12 10 6.39m 12375
5,026 ha
H3 17 19 1,500
9 2z 19,000ha
H5 13 9 3 190 6.65 4200 15
9 3 150 456 4300 156
4 135
4 4.56m 8,080 ha
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54 55 2
km T.P.m m
75.200 84.99 190
62.050 48.07 120
25.520 10.60 390
6.850 5.08 470
T.P.

13
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163.0 57.0%
19.6 6.8%
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